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1. (12 points) Let f(6) = (cosfr)~2. Find f"(2).

sin v/t it
Vi

3. (12 points) Find the limit lin%(cosa: — sinz)Y/®.
T

2. (12 points) Evaluate the integral /

|
4. (12 points) Evaluate the integral / %dﬂ?

5. (13 points) Let w = e +¥’ where z = ssint and y = ¢sins. Find Ow/ ot
and express your final answer in terms of s and t.

V2g—z2

6. (13 points) Evaluate the iterated integral f / (z? + v*) "V dydz.

7. (13 points) Find the Maclaurin series for f(z) = sinz.

8. (13 points) Show that

hm 2 :Cy 232
(@y)—(0,0) (2% + 9?)

does not exist.
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